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Model Prediction (M2)

M2: ['CS', 'CD', 'CB']
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M2: ['LfN', 'LFNT', "TSN', "TSNT']
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M2: ['LfA", 'peakTgtLAI']
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M2 (plot by DAT)
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M2 (plot by adjDAT)
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Plot Env Data

o ITe) = Te]
£ - N E I
| — | —
N N )
O O L
O 0O o o o
- © o o
_ _ — i
L 0 _ | 0
~ ~
L © | O
Te] Te]
Te] | N
(gl o
o F O
T T T T
o o o o
o n o Te}
(e} Te] Te} <
Te] Te]
[qV] o
— i
o o
o o
— —
Te] Te]
~ ~
o o
Te] Te]
To] Te]
o N
o o
To] 2 To]
N m - N
— | —
I T
X o
o o
o _ F O
— _ —
Te] | N
~ ~
o
e}
Te]
) F O




Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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